	Вариант-1

1.Расставьте степени окисления атомов элементов в формулах следующих элементов:

MgCl2, Na2SO4, NH3, N2O3, NO, Mg,   KOH, HNO3
2.Составить электронный баланс

Fe + HCl = FeCl2 + H2↑
SO2 + Na2O   → Na2SO3

KClO3  –t°→  KCl + O2


	Вариант-2

1.Расставьте степени окисления атомов элементов в формулах следующих элементов:

 H2S, H2, Na2SO3, SO3, NH3, N2O, Cu(NO3)2, BaCO3
2.Составить электронный баланс

C + CuO = Cu + CO2
Ca + 2H2O = Ca(OH)2 + H2↑
Cu(OH)2  –t°→  CuO + H2O


	Вариант-3

1.Расставьте степени окисления атомов элементов в формулах следующих элементов:

KCrO2 , Br2 , KOH, H2S,  SO2, , N2O, CuNO3, Fe(NO3)3
2.Составить электронный баланс

Fe2O3 + 2Al = Al2O3 + 2Fe
Cu(OH)2  –t°→  CuO + H2O
KI + Cl2→ KCl + I2


	Вариант-1

1.Расставьте степени окисления атомов элементов в формулах следующих элементов:

MgCl2, Na2SO4, NH3, N2O3, NO, Mg,   KOH, HNO3

2.Составить электронный баланс

Fe + HCl = FeCl2 + H2↑
SO2 + Na2O   → Na2SO3

KClO3  –t°→  KCl + O2




